Md. Kamal Hossain
Email : dbhossain@yahoo.com

AAWINDOWS\system32\cmd.exe - sglplus experimento

1: insert into min2 values<{&empno.,’'&ename’ .&=zald
1: dinsert into min2 values<6?7.’'ridoy’ .2388)

row created.
SQL> commits
Commit complete.
SQL> select * from minl;
EMPHO ENAME

123 kamal
124 jamal

select * from min2;
EMFNO ENAME
123 kamal

126 modon
627 ridoy

SQL> select * from min2;
EMPNO EMAME
123 kamal
126 modon
627 ridoy

" QL> desc minl;

HUMBERC18>
ENAME UARCHARZ 28>
SAL HUMBER<8 .2

QLY desc min2;

MUMBER<18>
UARCHARZ 28>
MUMBERCS .23

Fig : 2 Showing Table structure of Min1 and Min2
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Source

Reqgion Source

select * from minZ2
minus
gelect * from minl

Fig : 3 Showing the Query source using Minus of SQL Report

—

| EMPNO - | ENAME | SAL_

126 madaon 300
a7 ridoy 2300
1-2

Fig: 4 after running the page | found the result shown.
So, Dear Shapna,

| didn’t find any difficulties using minus in the Query. You can please check out the data type same or
not among this two tables.

Thanks.
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